G5-M2-lLesson 5

1. Draw an area model, and then solve using the standard algorithm. Use arrows to match the partial
products from the area model to the partial products in the aigorithm.,

a. 33x21
33 33
. 1 33 % 21 33 a-nd 660 are both
| put the snes ontop in \mmmmm partial products. | can
the area model so the 373 add them together to
partial products are in 20 560 : . find the final product.
the same order as in L6568
the algorithm.
693
b. 433 x21 _
433 When | add the hundreds in
433 x 21 the two partial products, the
1 433 _— sum is 10 hundreds, or
-\,\\}43 3 1,600. | record the 1
thousand below the partial
20 8,660 —> B 660 products, rather than above.
__—_i__...w
58483

2. Elizabeth pays $123 each month for her cell phone service. How much does she spend in a year?

123 123

2 246 x 12

| can draw an area o
model to help me see 246
where the 2 partial 1o 1,230 t1z30
products come from. R
1,476

Elfizabeth spends $1,476 in o year for cell phone service,

EuRE“ Lesson 5t Muttiply decimal fractions with tenths by multi-digit whole numbers 9
M ATH“ using place value understanding to record partial products.

©2015 Great Minds. eureka-rriath.org
G5-M1-HWH-1.32.0-07.201%

S8 B388338380338338383333%.




